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Graphing Inequalities and Systems of Inequalities             NYS Regents Exam Questions              
                                                                                                         from 2007 – Aug 2014
Graphing Inequalities

		_____1.   Which graph represents the solution set of   2x – 5 < 3  ?

	(1)
	[image: ]

	(2)
	[image: ]

	(3)
	[image: ]

	(4)
	[image: ]



_____2. Which quadrant will be completely shaded in the graph of the inequality y < 2x?



  (1) Quadrant I 	(2) Quadrant II         (3) Quadrant III	      (4) Quadrant IV
		
_____3. Which inequality is represented by the graph below?
[image: ]


(1) 			(3) 


(2) 		(4) 










_____4. Which graph represents the inequality y > 3?
[image: ]

_____5.  The diagram below shows the graph of which inequality?

[image: ]
(1)  y > x – 1 		(2)  y > x – 1		(3)  y < x – 1  		(4)  y < x – 1 

	











		_____6.  Which graph represents the inequality [image: ]?


(3)
[image: ]
(4)
[image: ]


	(1)
	[image: ]

	(2)
	[image: ]

	
	

	
	



_____7. Which graph represents the solution of  3y – 9 < 6x   ?




(1) [image: ]	    	         (3) [image: ]
             (2) [image: ]		            (4) [image: ]
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]


_____8.   Which graph represents the solution of     2y + 6 > 4x   ?


(1)
[image: ]
(2)
[image: ]

(3)
[image: ]
(4)
[image: ]



















9.   Graph the solution set for the inequality 4x – 3y > 9 on the set of axes below.  
      Determine if the point (1, -3) is in the solution set. Justify your answer.

[image: ]






Systems of Inequalities 
· Use the store feature on your calculator to substitute in x and y
· Point has to be TRUE for both Inequalities

_____1. Which ordered pair is in the solution set of the following system of linear 
               inequalities?
y < 2x + 2

y  -x - 1



(1) (0, 3)		(2) (2, 0)	       (3) (-1, 0)	   	       (4) (-1, -4)

_____2. Which ordered pair is in the solution set of the following system of inequalities?






           (1) (-5, 3)		(2) (0, 4)		(3) (3, -5)	         (4) (4, 0)


_____3. Which coordinates represent a point in the solution set of the system of 
               inequalities shown below?
y <  x + 13

4x + 2y > 3




(1) ( -4, l) 		(2) (-2, 2)		(3) (1, -4)	        (4) (2, -2)

____4. Which ordered pair is in the solution set of the system of inequalities  y < 3x + 1 
             and   x – y > 1  ?




(1) ( -1, -2) 		(2) (2, -1)		(3) (1, 2)	        (4) (-1, 2)




Systems of Inequalities on a graph
· Point has to be in the DOUBLE SHADED area

_____1. Which ordered pair is in the solution set of the system of linear inequalities  
              graphed below?
[image: ]

(1) (1, -4) 		(2) (-5, 7)		(3) (5, 3)    	       (4) (-7, -2)


_____2. Which ordered pair is in the solution set of the system of inequalities shown in the  
               graph below?
[image: ]

(1) (-2, -1) 		(2) (-2, 2)		(3) (-2, -4)	        (4) (2, -2)


3. On the set of axes below, graph the following system of inequalities and state the   
    coordinates of a point in the solution set.



[image: ]


4. Solve the following system of inequalities graphically on the set of axes below.

3x + y < 7

y > x – 4
   
    State the coordinates of a point in the solution set.
[image: ]













5. On the set of axes below, graph the following system of inequalities.

y + x > 3

5x – 2y > 10
	
		     State the coordinates of one point that satisfies    y + x > 3   , but does not satisfy  
                                                                                                                                     5x – 2y > 10. 



[image: ]







		6.   On the set of axes below, solve the following system of inequalities graphically.  
                 Label the solution set S.  

2x + 3y < - 3

y – 4x > 2
[image: ]











7.  On the set of axes below, solve the following system of inequalities graphically.

[bookmark: _GoBack]y + 3 < 2x

-2y < 6x – 10 


[image: ]                 State the coordinates of a point in the solution set.
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